

Multiply by 10^{-3} (I)

Find each product.

$$76 \times 10^{-3} =$$

$$39 \times 10^{-3} =$$

$$58 \times 10^{-3} =$$

$$23 \times 10^{-3} =$$

$$61 \times 10^{-3} =$$

$$24 \times 10^{-3} =$$

$$96 \times 10^{-3} =$$

$$23 \times 10^{-3} =$$

$$19 \times 10^{-3} =$$

$$78 \times 10^{-3} =$$

$$38 \times 10^{-3} =$$

$$86 \times 10^{-3} =$$

$$60 \times 10^{-3} =$$

$$6 \times 10^{-3} =$$

$$51 \times 10^{-3} =$$

$$94 \times 10^{-3} =$$

$$3 \times 10^{-3} =$$

$$53 \times 10^{-3} =$$

$$23 \times 10^{-3} =$$

$$4 \times 10^{-3} =$$